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A hot iron block and a hot copper block (as shown in the following figure) are dropped into a
large lake. Please find the total amount of entropy change when both blocks cool to the lake

temperature. Assume the specific heats of iron and copper at room temperature are Ciron =
0.45 kJ/kg.°C and Ceopper = 0.386 kJ/kg. °C. (20 %7)

What are the major ditference between the classical thermodynamics and statistical
thermodynamics? (5 %-)

Consider a simple ideal Rankine cycle with fixed boiler and condenser pressures . It the
cycle is modified with reheating, (select the correct statement) (a) the turbine work output
will decrease. (b) the amount of heat rejected will decrease. (c) the pump work input will
decrease. (d) the moisture content at turbine exit will decrease. (e) the amount ot heat input
will decrease. (5 %)

MELE L (BIESp£30 %)
(1). 9k 32 48 75 % (non-ideal solution) -
(2). #|#2HE H (residual property) ~
(3). #7 4 7 B (Kopp’s Rule)
(4). B & B Bk (free expansion) _
(5). # 2 4k & F #2 K (virial equation of state)
(6). .25 & 77 (bubble point pressure) °
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